Unit 2 Review

NAME: \(J'L.:

Determine if each situation is modeled by a LINEAR function, EXPJNBNTIAL function, or NEITHER.

Lf(x)=-9x+2

Circle one: CR'EA\B EXPONENTIAL NEITHER
Y
2.f(n)=f(n-1)-2; f(1) =2
v
Gircle one: | umz;lﬁ EXPONENTIAL NEITHER

has noticed that it grows a half and inch each day.

4
3. Fernando wants to know how tall his plant will be in one month. When he first got his plant, it was 2 inches tall. He
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Circle one:  LINEAR EXPONENTIAL C NETHER )
8. f(x) = 18x*
P
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Free Response — Show all work.

Y a2
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14. Wnud;eequznonof:lmednlhasadopeo( and goes through the posnt (—4, —12}.
C j 34 (x44) —12) ov Y= \/ﬁ/”'*é\ .
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15. Wntethceqmuonoftbclmcgnpbedtod\crgbl.
~‘F+ (\-; 2)

SloPc =
16. Identify the slope and y-intercept of the fine y = —x + 23

Slope = N int (0,2

Write the equation of the line that has a slope of zero and passes through the point (5. 3)-

17.
=0(x-S)t3
2005397 (473

To save money for a car for your 16* birthday, your parents deposited $5,000 into 3 bank sccount that carns 3% mueress. The
money is left there for 4 years. How much money will be in the account w0 purchase the car?

3*=Sboo(kh03)f'=<E§§EE§:§§>

19. You took a 100 mg dosage of a medication that will filter out of your body scconding to the equatoa:
= 100(0.74)*, where x represents the number of hours after you have taken the drug, and ) represents the amount of the

¥ = /4)7,
i i ! 7 f th is left in your body after 2 2
drug that will be left in your body How e drug is left in your body atter 2 hours?

Y=10(, )" =(5. w@
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20. Write the equation matches the table: 21. Wnte a scenano that could match the graph bekow:
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23. For a few months, Dcxtuzccmdeddtcmnuoﬂhndmnmdhm;&vdaagcmmnmmg(y)sﬁuhs&mﬂ?“s‘td(x)
=- Describe the slope and y-mterc usxngcuntcn.
loads of hundry. The equation is: ¥ 2.3x + 38. y- ept - C\,cy\»i

Slope = he amouf‘f of de Trnr'nr decicases \,;1 30w
‘Uad o laumir'; done.
ces of defrgerTin g

-
n offic initially nad -2 fur
24 A - -fbaﬂ?n;!_!\t(;hkghﬁ 60mchcsoﬂ'th \émnd&cbmncubouncs,ncm\csbnck o7 2 of the heght.

2 Write an explicit equation in inches that shows the value for X (the number of bounces).

Y= bo (74)%
b. Abouthowlongwﬂlitmkefordxcballtobelasthnnmmdlofftbegmund?

oo Qhect 11 bounces, (on i (5 pownce

25. Write the equation of the line on the graph in slope-intercept form:

S\ ppe = | \iﬁn& {o,1) !

26. Write the equation of the line in slope-intercept form going through the points (—4, 8) and (—2, 12).

=12-8 -4 -, Y3 2(x14) 18 Y=2(xt1)412
— 244 2 3- 2RT3TE oy ;27\4«-1 tHa

= Xty (4= z2x te
27. ‘Mitchell bought a new car at a cost of $30,000. The value of the &ir decfeases exponentially at the same rate each year. One year

later, the value of the car was $26,400.

A. What is the common ratio? _! 6 ® # Years | Value of Car
0 $30,000
B. Wirite an explicit equation to model thxs situation. 1 $26,400
2 $23.232

Lj 20000 ( 83) 3 $20,444.16

l 0-/
C. By what percent is this car depreciating? 2 /o
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